SBI And SBI Associates Clerk Exam

GENERAL AWARENESS

1. What did Shera - the Mascot of

4.

the 2010 Delhi Commonwealth
Games - ask the audience of all
age group ?

1} Rise, life and progress

2} Come forward and win

3} Come out and play ,

4} Like, rise and move

(5) None of these

Sachin Tendulkar was adjudged
the ICC Cricketer of the Year at
the LG ICC Awards on October
6, 2010 in Bangalore and thus
he became the second Indian to
win this coveted award after

1) Souray Ganguly in 2004

{2) Rahul Dravid in 2004
{
{

(
(
!
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3) Virender Sehwag in 2009

4) Gautam Gambhir in 2009

{5) None of these

The Centre has released to States
Rs. 3938.96 crore till Septemer
2010, under the Rashtriya Krishi
Vikas Yojana (RKVY)} during
2010-11 againast & total alloca-
tion of Re. 6790.04 crore. In
which year RKVY was launched
to achieve four per cent annual
growth in the agriculture sector
through the holistic development
of agriculture and allied sectors?
{1y August 2008

[2) September 2009

(3} August 2007

(4) September 2007

(5) September 2005

A special full Bench ofJJustices
SU Khan, Sudhir Agarwsl and
DV Sharmsa of the Lucknow
Bench of the Allahabad High
Court pronounced its verdict on
the Ayodhya title suits on Sep-
tember 30, 2010. On which of
the following dates the final hear-
ing of the case did begin on the
title suits ?

(1} July 23, 1996

(2} August 21, 2003

[3) July 26, 1998

(4) September 8, 2001

{5) June 24, 2000

5.

As per the instructions issued by
the Reserve Bank of India, the
co-operative banks, regional ru-
ral banks, non-banking insur-
ance companies and other enti-
ties are

(1) allowed to carry their trans-
actions in Government secu-
rities only in their physical
forms.

(2} allowed to trade in gifts only
in demat forms.

(3} not allowed to carry trade in
gifts in any form.

(4} required to carry trade in gifts
only in physical forms and
after taking permission of the
RBI in advance.

{5) None of these

Most of the public sector banks

and housing finance companies

who are providing housing loans
to individuals get the refinance

{1} Reserve Bank of India
{2) Ministry of Housing & Devel-
oprment

{3} Life Insurance Corportation
of India

(4} HUDCO
[5) None of these

7. The water-flow in which of the

following rivers shared by the
India and Pakistan both, {s con-
trolled by the International trea-
ties ?

1) Indus only

2} Chenab only

3} Jhelum only

4} Only {2) and (3} .

(5) All the three

(
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8. Which of the following ports has

been designated as 'hub port' in

. western India ?

(1} Bhuj-Kandalaport

[2) Jamnagar port

3} Goa port

(4} Jawaharlal Nehru Port,
Mumbai

(5) None' of these

9.

10

11.

12.

13.

British scientist Rober Edwards,
whose pioneering research led
the birth ofthe world's first 'test-
tube baby’ on July 25, 1978 won
the 2010 MNobel Prize for Medi-
cine on October 5, 2010. What
is the name of the scientist who
was closely associated with Ed-
wards in this pioneering work?
(1) Ei-ichi Negishi

(2) Richarch F Heck

3} Patrick Steptoe

() Andrei Geim

(5) None of these

____ President Susilo Bambang
Yudhoyono was, on October 15,
2010, announced by the Centre
to be the chief guest at the 2011
Republic Day parade in Delhi.
{1) Indonesian (2} Malaysian
{3) Singaporean (4) Cambodian
{5) None of these

In which country did parliamen-
tary election on October 10,
2010, produce no clear winner,
setting the stage for a fractured
legislature?

1) Turkmenistan

2) Portugal

3} Sweden

4) Kyrgyzstan

(5) None of these

The Planning Commission, on
October 4, 2010, launched a
website to elicit suggestions on
the Approach Paper' to the XII
Plan { , } so as to make the final
document more inclusive.

1} 2011-2016

2) 2012-2017

3) 2013-2018

4) 2014-201%

(5) Mone of these

In the election of the President
of India, which among the fol-

{
{
!
{

lowing members has the right to
vote?

(1) Only Members of Lok Sabha
[2) Only Members of Rajya Sabha



14.

15.

16.

17.

on October 6,

{3) Only Members of State Leg-
islatures

{4) Elected Members ofboth the
Houses and State Legisla-
tures

(5) None of these

2010,

claimed England's first gold

medal in the 2010 Delhi Com-

monwealth Games ahead of Aus-

tralian world champion Marieke

Guehrer in the women's 50m

buttertly, in & Games record time

of 24.62.

(1} Marie Donald

[2) FranHalsall

[3) Meryl Nicole

(4} Edwina Philips

(5) None of these

The modern tool for imaging

brain tumours is —

(1} X-rays

{2) Ultrasound

{3) Magnetic resonance

{4} Electronic spin resonance

(5) None of these

Which smong the following

statement(s} is/are TRUE in

terms of exports in the Agricul-

ture Sector ?

A. The Government has created

10 new zones to promote agri-

cultural products.

B. Five new zones have been

created to promote only farm

products.

C. Now the number of Agricul-

ture Export zone has gone to 20.

(1) Only A

(2} Only B

(3} Only B and C

{4} Only C

(5) Only A and C

Consider the following state-

ments about the 2010 Common-

wealth Games held in New Del-

hi in October 2010?

. Kabaddi was s demonstration

sport at the Games.

. Triathlon was excluded from the

games as there was no suitable
location for the swimming stage.

. There were 17 sports for the

2010 Commonwealth Games.
Select the correct answer using
the codes given below:

(1} All of the above

[2) Only a

18.

19.

20.

21.

22.

23.

{3) Both b and ¢

(4} Onlyc

{5) None of these

Who among the following heads

of state from outside India at-

tended the opening ceremony of

the 2010 Commeonweslth Games

on October 3, 20107

{1) Mohamed Nasheed, Presi-
dent of the Maldives

(2} Marcus Stephen, President of
Nauru

(3} Prince Albert II of Monaco

{4) All of the above

{5) None of these

In the international system of

measurement, Kelvin is the unit

of —

{1} Electric Current

(2} Length

(3} Liquid

(4) Temperature

(5} Intensity of light

Which among the following in

India is the second largest eco-

nomic activity after agriculture ?

{1} Handloom

{2) Poultry

{3) Education & tuition

[4) Carpentary

(5) None of these

From which of the following

games Abhinav Bindra is related?

(1) Cricket {2} Swimming

{3) Badminton () Golf

[5) Shooting

At which place did the Defence

Ministers from India and several

Asgla-Pacific countries, including

China and the United States, af-

firm their collective "commit-

ment to enhance peace, secu-

rity, and prosperity in the region”

on October 12, 20107

(1) Manila [2) Beijing

(3} Hanol {4} Tokyo

{5) None of these

Who among the following has

compiled his private papers in

the form of a book, titled 'Con-

versations with Myself which

went on sale on October 12,

20107

(1} John Major

2) Tony Blair

3} Nelson Mandela

4} Bill Clinton

5} None of these

24.

25.

26.

27.

28.

29.

Scientists at the National Snow
and [ce Data Center in Colorado,
in October 2010, came out with
the disturbing figures that Ice
cover in the Arctic declined to
its _ lowest point this summer.
{1} Second (2} Third

{3) Fourth (4) Most

(5) Mone of these

Which is the first transgenic crop
in India?

(1)Bt Cotton (2} Potato

(3} Onion (4) Tomato

(5) Rice

After a gap of three years, India
and Russiz, in October 2010.
conducted a 10-day joint anti-ter-
rorism exercise, termed
2010 in Uttarakhand's Ranikhel
district.

Vajra {2) Garuda

[3) Nag 14} Indra

[5) None of these

India and____ on September 30,

2010, signed three agreements

besides agreeing upon a credit

line of $500 million for infra-
structure projects.

{1} Mauritius (2) Mauritania

[3) Mozambique [(4) Botswana

[5) None of these

Which of the following has been

included in the list of Fundamen-

tal Rights to Indian citizen ?

{1) Job to each and every single
womsan who has obtained =
post graduation Degree and
is not more than 29 years of
age

[2) Equal opportunities to every
woman wishing tojoin Indian
Defence services at any level/
position

(3) Education to all children be-
tween 6-14 years of age

[4) Social security to every per-
sonwho has attained the age
of 70 years but does not have
regular income to support
him /herself.

[5) None of these

The Automatic Fleet Management

system tracking the movement

ofvehicles through satellite will
be used in monitoring the move-
ment of public buses in —

(I)Mumbai [2) Kolkata

{3} Hyderabad (4} Chennai

{5) New Delhi



30.

31

32.

The North-Eastern states form
nearly what percentage of India's
total geographical area ?

(1) 15% (2} 10%
13) 8% 14} 5%
5) 3%

Which of the following PSUs is

now a member of the Tata Group

of Companies ?

{1} Bharat Petroleum

{2) Bharat Sanchar Nigam Ltd.

{3} Videsh Sanchar Nigam Ltd.

{#) Nuclear Power Corporation
Ltd.

[5) None of these

The apex court of Ukraine, in Oc-

tober 2010, voided changes to

the Constitution adopted during

the pro-Western "___;revolution,”

invalidating the controversial po-

litical reform of 2004.

1} Crimson [2) Blue

[3) Orange 4] Yellow

(5) None of these

The unemployment rate in the

U.3. remained at per cent

during September 2010, accord-

ing to monthlyjobs report by the

U.5. Bureau of Labour Statistics

on October 8, 2010.

1y 7.2 12) 8.4

3) 2.6 4 10.2

(5) None of these

Forest area as percentage to to-

tal geographical area (in North-

Eastem states) is maximum in—

(1} Assam

2} Manipur

(3) Nagaland

4) Tripura

(5) Arunachal Pradesh

Which of the following items does

not fall in the category of items

being exported from India ?

1)Tes [2) Footwear

(3} Milk (4) Steel

5) Garments

Which of the following is the cor-

rect full form of TRIPS ?

(1} Trade Related Insurance and
Protection Services

(2) Trade Regulation and Insur-
ance Providing Services

(3) Technical Regulations Index
Protection Services

(4) Trade Related Intellectual
Property Rights

(5) None of these

37. 'Sharda Act’ is related with the —
(1) Child marriages

[2) Rent Control

(3) Elections of Local bodies

(4} Dual Citizenship to NRls

{5) None of these

Which of the following companies
is in the diamond business?

1) AT&T

2) Omega

3) De Beers

4} Cathay Pacific

(5) None of these

Who among the following was,
on September 29, 2010, chosen
by the International Cricket
Council as its ambassadors for
the year 2010-117

(1} Virender Schwag

{2} Kumar Sangakkara

t3) Paul Collingwood and Micha-
el Clarke

{4) All of the above

{5) None of these

The Cambridge University, on
October 13, 2010, conferred
Honorary Fellow of Trinity Hall
on____, making him the first
south Asian in over 50 years to
get this honour.

38.
L
t
!
L

39.

40.

(1) Manmohan Singh
(2} P. Chidambaram

{3} Karn Singh

(4 Mani Shankar Alyvar
(5) Mone of these

GENERAL ENGLISH

Directions (41-55): Read the fol-
lowing passage carefully and answer
the questions given below it. Certain
words are printed in bold to help you
locate them while answering some of
the questions.

In the town of Agra there lived a
rich businessman. But he was also
quite & miser. Various people used to
flock outside his house everyday hop-
ing for some kind of generosity, but
they always had to return home disap-
pointed. He used to ward them off with
false promises and then neverlived up
to his word. Then one day, a poet
named Raidas arrived at his house and
said that he wanted to read out his po-
ems to the rich man. As the rich man
was very fond of poetry, he welcomed
him in with open arms.

Raidas started to recite all his po-
ems one by one. The rich man was very
pleased and especially so when he
heard the poem that Raidas had writ-
ten on him. In those days it was a cus-
tom for rich men and kings to show
their appreciation through a reward or
a gift, as that was the only means of
earning that a poor poet possessed. So
the rich man promised Raidas some
gifts and asked him to come and col-
lect them the next day. Raidas was
pleased.

The next morning when he amived
at the house, the rich man pretended
that he had never laid eyes on him be-
fore. When Raidas reminded him of his
promise, he said that although Raidas
was a good poet he liked the poem which
was written on him and the rest of the
poems were very ordinary. He also said
that he had earlier promised a reward
to Raidas not because he was really
pleased or impressed, but to simply
encourage him. Raidas was extremely
upset, but as there was nothing that
he could do, he quietly left the house.
On his way home he saw his brother
Kuber riding a horse. So he stopped
him and asked for his help after nar-
rating the whole incident. Kuber toole
him to his own house in order to come
up with a plan. After giving it some
thought he asked Raidas to go to a
friend's house with five gold coins and
request the friend to plan a dinner
where the rich man would also be in-
vited. He then narrated his plan to him.

Raidas had one trustworthy
friend whose name was Mayadas. So
he went up to him and told him the
plan. The next day, Mayadas went to
the rich man's house and invited him
for dinner. He said that he intended to
serve his guests in vessels of gold,
which the guests would get to take
home after the meal. The rich man was
thrilled to hear this and jumped at the
offer. After the rich man arrived at May-
adas’ house, he was surprised to see
no other guests there but Raidas. Any-
how, they welcomed him in and start-
ed a polite conversation. The rich man
had come on an empty stomach and
so was getting hungrier by the minute.

Finally at midnight the rich man
could bear his hunger no longer and
asked Mayadas to serve the food. May-
adas sounded extremely surprised
when he asked him what food was he
talking about. The rich man tried to
remind him that he had been invited



for dinner. At this point Raidas asked
him for proofofthe invitation. The rich
man had no answer. At the point Rai-
das reminded the rich man of the same
treatment that he had meted out to

him.
take

The rich man realised his mis-
and begged for forgiveness. He

said that Raidas was a good poet and
had not asked him for any reward. He
himself had promised to give him some
gifts and then cheated him out of them.
To make up for his mistake he took
out the necklace that he was wearing
and gifted it to Raidas. Then they all
sat down to eat & happy meal.

41.

Why was the rich businessman

thrilled on being invited over to

dinner by Mayadas ?

{1) He was thrilled to have din-
ner for free

{2) No one had ever invited him
over for dinner since he was
very miserly

(3) Mayadas had promised to
serve in gold dishes which the
guests were allowed to take
home with them

4} Mayadas had promised many
delicacies in the dinner

(5} None of these

42. Which of the following is true"in

43.

context of the passage ?

(1} It was Raidas’ brother Ru-
ber's plan to teach the rich
businessman a lesson

(2) The rich businessman had to
return empty stomach from
Mayadas's house

[3) Mayadas was a trustworthy
friend of the rich business-
man

{4} None is true

(53 ALl (1), (2} and (3} are true

What did Raidas and Mayadas

do when the rich businessman

came over for dinner ?

(1} They were trilled to have a
rich businessman as their
guest and served him well

(2} They served him in gold uten-
sils which he later took with
himself

(3} They did not serve him any
food until he learnt a lesson
on what he had done with
Raidas

{4} They forced him to give away
his necklace to Raidas in re-
turn of the dinner which they
had served

(5) None of these

44.

45.

46.

47.

What did the rich businessman
do when Raidas went to collect
his reward from him the next day?
tA) The businessman refused to
award him eventhough he
hed promised so earlier.

He said that he had prom-
iged a reward only to encour-
age him not because he was
pleased with him.

He said that most ofthe po-
ems written by Raidas were
ordinary.

(1) OnlyB

{2) Only A and C

[3) Only B and C

{4) All of these

(5) Mone of these

Why did people flock outside the
rich businessman's house every-
day ?

(1} The businessman was very

(B)

()

kind-hearted arid generous

[2) They sought and explanation
from him on not keeping the
promises made to them

{3) All of them wanted to recite
poem to him as he was fond
of poems

(4) They would hope for some
generosity from the business-
man since he was rich

{5) None of these

Why did the people always re-

turn home disappointed from the

rich businessman’s house ?

(1) He would donate less than
what he had promised to them

(2} He made promises to them
but never kept his words

(3) The rich man would only re-
ward those who had written
poetry on him

(4) Both (2) and {3}

{5) None of these

How did the rich businessman

react when he realized his mis-

take of not keeping his promise

which he had made to Raidas ?

(1) He asked Raidas to come to
his house the next day to take
his reward

{2) He left Mayadas' house imme-
diately without having dinner

{3) He justified that Raidas did
not deserve an award since
his poems were very ordinary

48.

49.

S50.

(4) He said that Raidas was lying
and that he had already award-
ed him with a necklace

(5) None of these

Which ofthe following is the mor-

al of the story ?

{1} A house divided against itself
cannot stand

{2} Abird in hand is worth two in
the bush

[3) Never make a promise

(4} Proofof pudding is in the eat-
ing

[5) Never go back on your prom-
ises

Why was the rich businessman

pleased with Raidas ?

(1} Raidas had recited poems to
him but had not asked for any
gifts in return

(2} Raldas was also as miserly as
him

t3) Raidas had invited him over
for dinner

4) The businessman liked his
poetry, especially the one
written on him

(5) Mone of these

Which of the following best de-

scribes Ruber ?

(1} Manipulative

{3} Miserly

[5) None of these

Directions (51-53): Choose the

(2} Clever
(4) Influential

word which is most similar in mean-’
ing to the word printed inbold as used
in the passage.

51. NARRATING
(1) Talking {2) Performing
(3} Departed (4} Executing
[3) Describing
52. MEANS
{1} Expression (2) Idea
{3} Intention () Way
{5) Purpose
53. INTENDED
(1} Presumed (2} Wanted

(3} Promised
(5) Expected
Directions (54-55) : Choose the

{4} Confirmed

word which is most opposite in mean-
ingto the word printed inbold as used
in the passage.

54.

TRUSTWORTHY

{1} Worthless (2} Unfair
{3) Unreliable

4} Discriminating

(5) Awful



(1) Disappointed

(2} Stunned (3} Hostile

(4} Jealous (5} Pensive

Directions (56-60) : Read each

sentence to find sut whether there is
any grammatical error or idiomatic er-
ror in it. The eror, if any, will be in
one part of the sentence. The number
of that part is the answer. If there is
no error, the answer is '5". (Ignore the
errors of punctuation, if any).

56. The number of students {1}/
present in the school today (2) /
are less because of {3}/ the ru-
mour of an approaching storm.
(4}/ No error (5)

57. As soon as the fire alarm (1}/
went off, the (2})/ residents of
building (3) / vacated it immedi-

ately. (4}/ No error (5)

Considering the amount (1}/ of
stress she is under (2)/ it is not
surprising that (3)/ she keep get-

ting migraines. {4}/ No error (5]

59, The condition of the city (1}/
seems to be very appalling (2)/
with all the vehicles {3}/ belch-
ing out exhaust fumes. {4}/ No
error (5}

60. As it got foggier (1)/ it become al-
most impossible (2)/ to steer the
boat (3}/ slong the narrow canal.
{4}/ No error (5)

Directions (61-65) : Rearrange

the following six sentences (A}, (B} {C),
(D}, (E) and {F} in the proper sequence
to forrm a meaningful paragraph; then
answer the guestions given below
them.

{4} He explained to the king that
the gunny bag full of grains
was the real gold that the
earth could give, which he had
grown with lots of hard-work.

58.

[15]

King Aditys was growing old

and decided to hand over his

kingdom to the most deserv-
ing of his five sons.

[C} He then told them to use this
land and return with gold af-
ter six months.

D} King Aditya weas impressed

and handed over his kingdom

to Raviditya.

In order to test them he took

them to a field and gave a

piece of land to each one of

them.

E

{F)} After six months all returned
empty handed except Ravid-
itya who carried a gunny bag
on his shoulder.

61. Which ofthe following should be
the SECOND sentence after re-
arrangement ?

1) B 2} ¢
2 D “4) E
15) F

62. Which ofthe following should be
the FOURTH sentence after re-

arrangement?

(1) B 2 c
3 E 4 D
B} F

63. Which ofthe following should be
the LAST (SIXTH) sentence af-
ter rearrangement ?

(1) A 2 B
B c 4 D
5 E

64. Which of the following should be
the FIRST sentence after rear-
rengement?

B 2y c
3l D 4 E
Bl F

65. Which ofthe following should be
the THIRD sentence after rear-

rangement?

(1A 2} B
3 € 4D
By E

Directions (66 - 70} : In each
question below a sentence with four
words printed in bold type is given.
These are numbered as (1}, (2}, (3} and
(4). One ofthese four words printed in
bold may be either wrongly spelt or
inappropriate in the context of the sen-
tenee. Find out the word, ifany, which
is wrongly spelt or inappropriate. The
number of-that word is your answer. If
all the words printed in bold are cor-
rectly spelt and also appropriate in the
context of the sentence, mark (5)," i.e.
'All correct’ as your answer.

66. They failed to adhear (1}/ to the
terms of the agreement (2)/ on
which they (3)/ had agreed upon
(4}/ earier. All correct (5)

67. The main problem (1} / of educa-

tion is that (2}/ it is not excessi

ble(3} / to all the people conve-

niently. (4)/ All correct (5)

Last night the ambassador (1)/

was summoned (2}/ to the for-

68.

eign office to discuss (3)/ the ex-
icis. (4)/ All correct (5)

He was an amature {1}/ singer
till (2)/ the age of forty, when
(3)/ he turned a professional.
(4)/ All correct (5)

It never ceases (1)/ to amazing
(2)/ me how he can talk for so
long without ever (3) / saying any-
thinginteresting. {4}/ All correct
(5)

Directions (71-80) : In the fol-
lowing passage there are blanks, each
of which has been numbered. These
numbers are printed below the pas-
sage and against each, five words are
suggested, one of which fits the blank
appropriately. Find out the appropri-
ate word in each case.

69.

70.

As you all know, Emperor Akbar
was very (71} with Birbal's wisdom and
greatly enjoyed his quick wit. One fine
morning when Akbar was especially
pleased with Birbal, as a gesture ofap-
preciation, he promised to (72} him with
many valuable and beautiful gifts.

However, many days passed, and
still there was no sign of even one gift.
Birbal was quite (73) with the king.
Then one day, when Akbar was stroll-
ing down the banks of River Yamuna
with his ever faithful Birbal at his side,
he happened to (74) s camel passing
by. He asked Birbal why the neck of
the camel was crooked. Birbal (75} for
a second and promptly replied that it
might be because the camel may have
forgotten to honour a promise. The holy
books mention that those who (76} their
word get punished with a crooked
neck. Perhaps that was the reason for
the camel's crooked neck.

Akbar soon (77) his folly of malk-
ing s promise to Birbal for gifts and
not honouring it. He was (78} of him-
self. As soon as they returned to the
palace he immediately gave Birbal his
much (79) reward. In this way Birbal
(80) to get what he wanted without di-
rectly asking for it.

71. (1) impressed (2) liked
{3) interesed (4} jealous
[5) enthusiastic

72, (1} pamper [2) bonus
{3) reward (4 give
. (5) tribute

73. (1} jealous 12) sad
{3) hated 4} happy
{

5) disappointed



74.

75.

76.

77.

78.

79.

80.

[1) stare (2) notice
[3) examine (4} ride

(5) saw

[1) thought [2) scared
(3) answered (4] said

(5 talked

(1) fall [2) make
(3) defeat [4) break
15) keep

[1) reminded (2} mistook
13) realized (4) apologized

(5} understand
(1) forgetful (2} ashamed

[ (4 sympathetic
(5! sorry

(1} accumulated

(2) expensive (3] extorted

(4 awaited [5) wanted
(1) accomplish
[2) handled
(4} expected

(3} retrieved
[5) managed

QUANTITATIVE APTITUDE

Directions (81 - 95) : What

should come in place of the question
mark (7} in the following questions ?

81.

B2,

B3.

84.

85

86.

87.

{1} 905

TGI8 - 36211 + 12673 =7
(3} 52100 {2} 26754

(3 43820 [4) 51250

(5) None of 1hese

474 + 200 + ¥ = 90.07 "
(1) 84 12i 46

{3) 42.37 {4 3648

(5] None of these

452 +(25°x5="

(1) 154 2 16.2

[3) 25.4 (4} 25.3125
[5) None of Lthese

780 = Jo7e + (7% = 1326
(1) 1296 (2) 32

(3 1024 )36

{5} None of these
TE&+692+6+41 +119="7
{2) 855

[3) 896 (4} 880

(5} None of these

250% of 1400 - ? % of 1600
= 1580

{1) 110 @ 120

(3) 140 (4} 180

(5} None of these

3 .
56 * 173(;+358='?

a91.

95.

{1} 353 {2) 351
13 451 (4] 463
1) Mome of these
Ysa50 =7

{1y 19 (2) 17
B2l 4 15

13) None of these

8654+ 7+9=3
1) 39 2 21
{3) 36 (4} 27

{5 None of these

L 125+ 64 x32=7

{1} 48.5 (2} 32.94
13} 33.08 (4) 46.4
(5 None of these .
5963 - 5413 - 2869 =7

(1) 861 (2) 663
{3 681 {4) 654
{5] None of these
745-25x35 _,

384 +32+05

(1} 56.9 - (2} 5.96
3) 5.69 4) 50.6
(5] None of these
1.2, 4585=655
? 7 5

s 2] 24
13 4 {1} 16

(5} Mone of these

180 + 40 x 24 =3 =7
(1) 48 [2) 42
3 32 [ 28

(5] None of these

B7E-100 + 132) x 0.4 =7
1] 142 {2} 878.5
(3} 8875 - |4 156

(3) Mone of these
Directions (96-97) : In the (ol-

fowing number series only one num-
ber is wromg. Find out the wrong num-

ber.
96.

7.

8 11 17 47 128 371 1100
(1 (2)a7

(317 {4) 371

(5) 128

15 13 31 61 125 253
(11 215

{3 31 (4) 81

5) 125

. Acar covers a distance from town

A to town B al the speed of B8
kmph and covers the distance
from town B to town A at the
speed of 52 kmph What is the
approximate average speed of
the car ?

99,

100.

101.

102-

103.

104.

(1) 55kmph (2} 52 kimmph
(3) 48 kmph (4} 50 kmph
(5} 60 kmph

Mr. Phanse invests an amount of
Rs. 24,200 at the rate of 4
p.c.p.a. for 6 years to obtaln a
simple interest. Later he invests
the principal amount as well as
the amount obtained as simple in-
terest for another 4 years at the
same rate of interest. What
amount of simple Interest will he
obtain at the end of the last 4
years ?

(1} Rs. 4.800

[2) Re. 4,850.32

[3) Rs. 4,801.28

(4} Rs. 4,700 (5} None ofthese
In a sale, perfumes are available
at a discount of 25% on the sell-
ing price. If a perfume costs
Rs. 5,895 in the sale, what is the
selling price of the perfume ?
(1) Rs. 6,020

(2) Rs. 7,860

(3) Rs. 7,680

(4} Cannot be determined

(5) None of these

What approximate value should
come in place of the guestion
mark (7} in the following question?

754 + V4136 x 24 =7

(1) 294 [2) 276
(3) 265 4) 300
|5} 283

The cost of 15 digital cameras
and 21 handy cameras s
Rs. 3,54,900. What is the cost
of 5 digital cameras and 7 handy
CRIETAS P

(1) Rs. 1,25,500

(2) Rs. 1,18,300

[3) Re. 2,15,100

(4} Cannot be determined

(5) None of these

Acanteen requires 56 kgs. of rice
for seven days. How many kgs.
of rice will it require for the
months of April and May mget"l;k
er?

1) 496 (2) 480

13) 498 4) 488

(5} None of these

What should come in place of the
question mark [?) in the following
number series ?

56 84 ? 189 283.5 425.25



105.

106.

107.

108,

109,

110.

(1) 168 12} 132
3 126 4) 126

[5) None of these

The totsl number of students in
a school is 31700. If the ratio of
boys to the girls in the school is
743 : 842 respectively, what is
the total number of girls in the
school ?
(1) 14860
(3} 15340
(4} Cannot be determined

(5) None of these

The sum of five consecutive even
numbers A, B, C, D and E is 130!
What is the product ofA and E ?
(1) 720 (2) 616

13} 660 14) 672

[5) None of these

If the square of a number is sub-
tracted from 4052 and the dif-
ference is multiplied by 15, the
answer so obtained is 41340.
What is the number ?

1) 36 [2) 1024

13) 32 [4) 1296

(5} None of these

The population of & town 2 years
ago was 2,45,000. It increased
by 12% in the first year and then
increased by 15% in the second
year. What s the current popu-
lation of the town ?

11} 3,15,560 (2} 2,74,400

13) 3,51,560 (4} 2,94,400

[5) None of these

The perimeter of a square is 504
cms. What {s the area of the
square ?

{1y 2016 sq.cms.

2) 15876 sq.cms.

(2} 15376 =sq.cms.

4) 1008 sq.cms.

[5) None of these

Mrs. Sheela spends 18% of her
monthly income for the children's
education. She spends 32% of
her monthly income in household
expenses and 12% in travelling,.
She spends .45% of the remain-
ing amount in gambling and man-
ages to save only Rs. 9,405 at
the end of the month. What is
Mrs. Sheela's monthly income ?
{1} Rs. 36,000

{2} Rs. 50,000

(3) Rs. 45,000

{4) Cannot be determined

[5) None of these

[2) 16480

111.

112,

113.

114.

115.

Find the average ofthe following
set of scores :

746 345 1163 49 214 358
79 163

(1) 234 12) 396

13 282 14) 390

{5) None of these

A alone can complete a plece of
work in 6 days and B alone can
complete the same piece of work
in 12 days. In how many days
can A and B together complete
the same piece of work ?

(1) 5days 12) 4 days

(3) 3 days (4 2 days

(5} None of these

A car covers a distance of 136
kms. in 4 hours. What is the
speed of the car ?

(1) 34 kmph [2) 40kmph

(2) 36 kmph (4) 32 kmph

(5) None ofthese

Farida invests an amount of Rs.
3,600 for 3 vears at the rate of 6
p.c.p.a. What approximate
amount of compound interest will
she obtain at the end of 3 years?

[1) Rs. 648  (2) Rs. 695
13) Rs. 676 (4} Rs. 666
15) Rs. 633
r
I the fractions 3. 2. 4 15
the fraclivas ST AR

3 .
anﬁgarc arranged in the as

cending order, which fraction wil
be at the Jrd place #

1 .
(1) 3 [#24] 5
2 Kl
B 4z

{3) None of these

Directions [116-120): Study the

following profile of parliament carefully

and

answer the gquestions given

below it,

PROFILE OF PARLIAMENT
IN YEAR XXXX

Total Members in Parliament = 640
(420 from Lok Sabha and 150 from

Rajya Sabha)

Lok Sabha| Party | Rajya Sabha
(No. of | {No., of
Members) Memibers)

280 | A a0
180 | B T 43
1 M Othere 15
490 | Total 150
| SEX
L 435 Males 120
S Femnales 30
SRLIGION
348 Tiinghas BO
42 Merslirms 20
75 Sikhis 35
25 Christians | 10|
T FROFESSION
L300 Graduates 50
45 Busincss men 19
60 Educators 113
f H5 Uniinown 70
116. What is the approximate por-

117.

11s.

11i0.

centage of the Muskim members
in Lok Sabha 7

(1 9% [2) 119
(3} 130 () 14%
B 7%

in Rajya Sabba if 30 male mem-
bers were replaced by 30 female
members, then what is the ratio
of made toembers o lemale mem

hers respectively ?

)y 3 )
3 1:3 4] 2:3
[

What percentlage of members in
parliament are businessmen ?
{1} 8% {3 200

(3 Aea (4] 18%

(B 10%

1f all the "ethers” parly members
of Lok Sabha join the party ‘B
then what would be the ratio be-
lweer menhers of parly *A' 1o the
members of party ‘B respectively.
ity 3.2 2} 5.5
3 4.3 4 7:6

=y A LR



120.

Out of total members of party ‘B
in parliament, what percentage of
the members belong to Rajya
Sabha?

(1) 30% [2) 35%
13) 25% [4) 20%
15) 15%

REASONING ABILITY

121.

122,

123.

124.

125.

126.

Pour of the following five are alike
in a certain way and so form a
group. Which is the one that does
not belong to that group ?

(1) 35 [2) 45
@ 21 14) 28
(5 14

What should come next in the fol-
lowing number series?
95765432 18765432 1
7654321

(2 2y 5

3 & 42

(5) None ofthese

M is brother of K. P is sister of
K. R is father of P. How is K re-
lated to R ?

(1) Son

[2) Daughter

{3) Son or Daughter

{4) Data inadequate

{5) None of these

How many such pairs of letters
are there in the word BONDING
each of which has as many let-
ters between them in the word
as in the English alphabet ?

(1) None [2) One

(3) Two {4) Three

(5) More than three

The position of the first and the
fifth digit in the number
45321897 are interchanged, Sim-
flarly the positions of the second
and the sixth digits are inter-
changed and so on. Which ofthe
following will be the third digit
from the right end after the rear-
rangement ?

(1) 8 2 2

2) 5 4) 3

(5} None of these

How many such digits are there
in the number 62591483 each of
which is as far away from the be-
ginning of the number as when
the digits are arranged in ascend-
ing order within the number ?

127.

128.

129.

130.

{1} None (2} One

(3) Two (4) Three

(5} More than three

Four of the following five are alike
in a certain way and so form a
group. Which is the one that does
not belong to that group ?

(1) MP 12) AD
3) IL 4 QT
(50 F.J

How many meaningful English
words can be made with the let-
ters ASTE using each letter only
once in each word ?

{1} None [2) One

[3) Two 4) Three

(5) More than three

In a certain code language GOAL
is written as '5912" and LINE is
written as-2387'. How is ALIGN
written in that code language ?
(1) 12358 (2} 12538

[3) 12058 (4) 13258

{5) None of these

In a certain code language
JOURNEY is Written asTNISZFO.
How is BONDING written in that
code language ?

(1} ANMEHGJ

2} MNAEHOJ

(3} MNAEJOH

4) OPCEFMH

{5) None of these

Directions (131 - 135): In each

ofthe questions below are given three
statements followed by two conclusions
numbered I and II. You have to take
the given statements to be true even if

they seem to be at variance from com-
monly known facts. Read all the con-
clusions and then decide which of the
given conclusions logically follows from
the given statements disregarding com-
monly known facts.

Give answet (1) if only Conclu-

sion | follows.

Give answer (2) if only Conclu-

sion II follows.

Give answer (3) ifeither Conclu-

sion [ or II follows.

Give answer (4} if neither Con-

clusion [ nor II follows.

Give answer (5) ifboth Conclu-

sions I and II follow.

131.

Statements:

Some doors are tables.
Some tables are pots.
All pots are dishes.

132.

133.

134.

135.

Conclusions:

[. Some dishes are doors.
II. Some dishes are tables.
Statements:

Some plates are houses.
All houses are rooms.

Some rooms are hammers.
Conclusions:

1. Some hammers are plates.
II. Some rooms are plates.
Statements:

Some ropes are sticks.
Some sticks are rods.
Some rods are bridges.
Conclusions:

[. Some bridges are sticks.
II. Some rods are ropes.
Statements:

All books are pencils.

No pencil is rock.

Some rocks are stones.
Conclusions :

I. Some stones are books.
II. No stone is book.
Statements:

All desks are mirrors.

All mirrors are hotels.

All hotels are roads.
Conclusions:

[. Some roads are desks.
II. Some roads are mirrors.
Directions (136 - 140} : Study

the following arrangement carefully and
answer the questions given below :

136.

137.

138.

R2%M3EJ#P4A*906@U

T7TE@I1Q5$WBVNB

How many such symbols are there
in the above arrangement, each
of which is immediately preced-
ed by a number and {mmediately
followed by & consonant ?

{1} None {2} One

[3) Two {4} Three

(5) More than three

Four of the following five are allke
in a certain way based on their
positions in the above arrange-
ment and so form a group. Which
is the one that does not belong to
that group ?

1) ME % 2) 4 « P
3 71T M WVS
B TOU

How many such numbers are
there in the above arrangement,



each of which bs immediately pre-
ceded by a consonant and imme-
diately followed by a vowe] ?

(1) None 2} One
13) Two [4) Three
(5} More than three

138. If all the numbers in the above
arrangement are dropped, which
althe following will be the eighth
fram the left end ?

(1] * 21 A
8 # 4 ©
(3] None of these
140. What should come in place of

question mark (?) in the following
series hased an the above ar-
rangement ?

MEJ PA%x 6UT 2
migs @195
[Fe1s el

5] Mone of these

Directions (141 - 145) ; Study
the fullowing inlommnation carelully and
answer Lhe queslions given below :

AB C D EF GandH are
sitting around a circle facing at the cen-
tre. D is third to the right of A and sec-
cnd (o the left of H. B is second the left
L0 whoe is not an immediate neigh-
hour of either A or D E is third (o right
o G,
141, Who is the immediate right of D ?

N E ) B '

{3 H M F

% None of these

142. Who is second to the left of F ?
(1o 2B
3G

[4] Data inadequate

(3] Mane of these

In which of the [Dllowing pairs is
the first person silting Lo the im-
mediate left of the second per-

143.

son’?
(1} BD (2} 11B
(# EF (4) FA

[3) Mone of these ’
Who is fourth o the right of F 7

144,
mec 2D
3B (411

(3] None of these

. I which of the follewing is the
last person sitting in between the
first and the sccond person ?

[1] EBD {2] BHC
13} HCG {4} FED
(5] None of these

Directions (146 ~ 148) : Follow-
ing questions are based on the five
three-digit numbers given helow ?
518" 723 496 375 254 -
If 17 is added to the firsi digit of
each number and ‘1" is subtract-
ed from the third digit of each
number, which of the following
will be Lhe new second lowest
number ?
{1} 518
{3) 406
[5) 254
If the positions of the first and
the second digits of each of the
above numbers are interchanged,
which of the following will he the
third digit of the lowest number ?
s - @23
36 4) 3
5) 4
If the positions ol the first and
the third digils of each of the
above nurmbers are inlerchanged,
which of the following will be the
second digit of the highest num-
her ?
{11
@ s

- 131 5.

Directions [148-130) : Study the
following indlormation carefully and an-
swer the questions given below

i) 'Px{} means'Pisbrotherof Q.
i) 'F- () means P is sister of Q.
(i} ‘P + Q" means 'Pis father of Q.
(v} ‘P - @ means 'Pis molher ol @
149, Which of the following means ‘D
is nephew of B %7
(1DxM+R
2 R-M=D
PBIR-M=D=xT
MRxM+D
(5) None of these -
Which of the following means ‘M
is maternal uncie of T" ?
MM=R+T

146.

2) 723
4] 375

147,

148,

2) 2
f4) 7.

150.

IMxR+T
B TxJd-N+M
G M-R+T

(2) None of these
Directions (151 - 155) : In the
following questions, the symbols @, ©.
*, % and 8 are uscd with the following
meaning as illustrated below :
P& Q meuans P is neither greater
than nor smaller than Q.

‘P Y means P is smaller than .

‘P80 means 'Pis greater than ().

‘P * Q" means P is either smaller
than orequallo Q.

‘P % Q" means ‘P is either greater
than or equal to Q..

Now in each of the following ques-
lions assuming Lhe given stalemnments
to be true, find which of the two con-
clusions 1 and II given below them is/
are definitely true ? :

Give answer (1) if only Conelu-
sion I is true,

Give answer {2} if oniy Conclu-
sion 1l is rue,

Give answer [3} il eit her Conclu-
sion I or I is truc.

Glve answer (4) if neither Con-
clusion ! nor 11 is true.

Give answer (3] if hoth Coneclu-
sions | and Il are true. )

151. Statements:JSN N%F FxD
Conclusions :

L F@adJ

M. D%N

Statements : JUN. NOD D& K
Conclusions :

I. D&J

nLopaJg - :
Statements :REM, M@V, VSF
Conclusions : i

I. F&@aM

II. VER

Statements : N K, K& F,I"8W
Conclusions :

I. F%N

II.Wa@ K

Statements : B4 K, KSR RUWE
Conclusions :

1. E@QK

I. E@B

Directions (156 - 160) : In each
of the questions given below which one
of the five answer figures should come
after the problem figures if the se-
gquence were continued 7

158. Problem Figures

152,

153,

154,

155.

e Flatases|sarnsn| sases
Answer Figures
!
PR z+z+f+!-fvrar Foie—
i1} 1) &3] 4. |.'.5,'-



157. Problem Figures

U \JOIELJOIUOILOI
A0 A OAO|DAO
] =] O PE
]
Answer Figures
yom UOlLUDIUOI yom
OAL|7 AQl7 Aov7 aoiCcas
ofE|OFRiCPR|O A |0 PR
*C [x7 jkT Ol% T
(1} 123 (K] (4 31
68, Problem Figures

i1 2 K1) 143 5
59. Problem Figures

| | DX

Answer Figures

|160. Problem Figures

Answer Figures

i j
OIS

iy @)

MARKETING APTITUDE/
COMPUTER KNOWLEDGE

161. Which encoding type always has
4 non-gero average amplitude ?
{1} unipolar )
(2) multi-polar
13} bipolar
{4} All of the above
{5} None of these

162, SONET is an acronym for _
nelwork
{1} synchronous optical
[2) standard optical

3} symmetrical open
(4} standard open
(5) None of these
163. In a SONET system, can
remove signals from a path.
(1) An STS multiplier
{2} & regenerator
{3} an add/drop multipliers
[4) & repeater
(5) None of these
164. The optical links between any two
SONET devices is called_ .
{1} a section
(2} a line
{3) a path
{4} & portion
{5) None of these
165. The entension of database file is

given by

(1) dbf 2} frm
(3)Ndx (4 ser
15) Gif

166. IBM stands for
(1) International Business Ma-
chine
(2} Interconnected Business Ma-
chine
(3} Internal Business machine
[4) Interacting Business Machine
{5) None ofthese
167. Most computers understand pro-
gram written in language.
{1} low level
{2) high level
(3) middle level
(4) None of the above
[5) primary level
168. The server on the internet is also
known as—
(1) Repeater (2) Host
{3} Gateway (4] AND Gate
[5) None of these
162, A user can get files from another
computer on the Internet by us-
ing
{1} FTP
(2} HTTP
(3) UTP
(4 Both (1) and (2}
(5) None of these
170. VRML code is based on
(1) BCD
[2) ASCII
{3) Unicode
4) Both(l} and (2}
{5) None of these

171. High level languages are
{1) operator oriented
[2) operations oriented
(3) precedence oriented
T- (4 All of the above
(5) Mone of these
172. For multiple branchingin "C" we
use statement.
{1) Switch
{2) Go to
[3) Cout
[4) Case
(5) On
173. The key fields which are tested
by a packet filtering firewall are
{1) source IP address
{2) TCP/UDP source port
{3) Destination IP address
(4 All of the sbove
(5) None of these
174. Use net discussion groups have
their own system of organization
to help you find things just as—
1} Internet Excel
2} Archie
3) Gopher
4) Both (1) and (2}
[5) None of these
175. Web site is a collection of—
(1) HTML documents
(2) Graphic files
(3) Audio and video files
(4} All of the above
[5) None of these
176. Which of the following protocols
is used for WWW ?
(1) ftp
(2}http
13) W3C
(4 ht/tp www
(5) None of these
177. The lst network that initiated the
Internet was—
(1) ARPANET
(2) NSF net
(3) Vnet
{4} Inet
{5) None of these
178. The server on the Intemet is slso
known as —

{
{
t
{

(1) Repeater
[2) Host

[3) Gateway
(4} Initiator
(5) None of these



179,

180,

18

182,

183,

In MODEMS
{l] Several digital signals
multiplied

are

{2] A digital signal changes some

characteristic of a carrier

wave
{3) Digital signal is amplified
4 Both(l) and (2]

(5) None of these

reality, IP recognizes only
) a postal mail address

2] a location of host

3)

4) Both (1) and (2]

(53) None of these

1
(
(
(

.'Dichotomous questions' in mar-

ket research means

(1) detailed answers

{2) only ves-no

{3) only two responses

4] Both (1) and {2)

(3) None of these

The 7 O's framework is very use-
ful in the study of

(1) Price bahaviour

{2) Sales management

{3) Consumer bahaviour

{(4) Demand pattern

(5 None of these

In response hierarchy model,
cognitive stage deals with

(1) developing an interest

(2) creation of knowledge

(3] Both {Iland (2]

(4) Neither (1] nor (2]

(5) None of these

. In lndia, most advertisements are

categorised by many as
{l] deceptive

@)
(3) good source ofinformation
(4] Both (1] and (2]

(5) None of these

In marketing 'zero level' channel

entertaining

implies

(1) Manufacturer selling to the
retailer

(2) Manufacturer selling to the
direct consumer

(3) Retailer selling to the con-
Bumer

{4) Retailer selling through the
salesman

(3) None ofthese

Which among the following is a

non-durable goods 2

187.

188.

1889.

190.

191.

192.

193.

(BN
2)
i3] Colour T.V.

{4) Clothes

{5) None of these

According to the product life cycle

Soap
Maturity

theory, the profits are on peakin

Introductory state

Maturity

(5] None of these

Which among the following isfare

advantages of packaging ?

(1) It helps increase sales

(2] It adds to the use of a prod-
uct

i3] It helps in storage

{4] All of the above

{5) None of these

Administered prices are prices

fixed by the government normally

on the basis of —

i1] Cost

{2) Margin of profit

{2) Cost plus a stipulatedmargin

r of profit

(4] Market forces

(5] None of these

The people and organisations who

assist the flow of products and

information to marketing chan-

nels are called —

1

2

i3

{4

{5) None of these

Merchants
Dealers
Both {1) and (2]

Facilitating agents

Which among the following is not
an example of Direct Marketing ?
(1) Tele-marketing

{2) Sales on Internet
{3) Mail order sales
4

{5) None of these

Retail stores

In India advertising for, is
not allowed on T V.

{1] liguour

(2] cigarette

(3) Both (1) and {2)

(4] Neither (1) nor (2)

(5] None of these

Which among the following adver-
tising media has the maximum
reach ?

(1T, v.
I
Ie
IS

194. Which amongthe following is not
a

195,

196.

197. An

198.

198,

200.

edium for advertisements ?

m
iT

| Hoarding
| Direct Mail
1

(l
2
3
(4] Pamphlets

(5) None of these

Price pack deals are also called—
(1) value packs

(2
i3
%
{3) None of these

price tags
price offer
price contral

)
)
1
)

In a 'Soft sell' strategy, which is
not true 2

(1
(2
3
&)
(5] None of these

J Concern for self

1 Concern for customer
] Listening

1

Presenting benefits

intelligent salesman views
objections —

(1] positively

(2] negatively

(3] frustrated

(4] All of the above
(5] None of these
1891,

dia adopted the policy of—

In the Government of In-

{1] Liberalisation
2)

i3] Globalisation
4) All of the above
5) None of these

Privatisation

(
(

E-commerce C2C means

=

Consumer-to-Cash

Consumer-to-Consumer

5) None of these

Which of the following is not a
'Post testing' Technique of adver-
tisement ?

{1] Sales test

(2] Focus group

i3] Enquiry test

(4] Attitnde test

(5] None of these



43.(3) They did not serve him any
ANSWERS = EXPLANATIONS food until he learnt a lesson on

what he had done with Raidas

L 2 1 3 3 P 1.(3) Come out and play
-3 - @) -3 - (1) 2.12) Rahul Dravid In 2004 44. (4) All of these
5. (1) 6. (3} 7. (9} 5.(4) 2.(3) August 2007 45. (4) They would hope lor some gen-
9@ 10010 114y 12.(2) 4:[1) Juli 23, 1996 e?'osityl; from t-h; businessman
LB 14 @) 153 16 (D) . since he was ric
5.(1) allowed to carry their transaec- 46.(3) He made promises to them
7. (4 1. (4) 19. (4] 29.(2) tions in Government securities ’ but never ke tphis words
21.48) | 22.(3) | 23. (3| 24. (2) only in their physical forms. 47 (5) N “:
25. ()| 26.14) | 27.(3) 25.(3) 6.3} Life Insuranee Corportation of - (5} None ofthese
India 48, (5) Never go back on your prom-
29,05 | 30.(3)| 31.(3)| 32.(3) 715 Al';l o h ises
. e three
33.(3)| 34.05 | 35 (3} 36.(4 49. (1} Raidas had recited poems to
37.(1) | 38.(3)| 39.14 40. (4 8.(4) Jawaharlal Nehru Port, him but had not asked for any
AL 42, (1) | 43,3 44. (@) Mumbat gifts in return
45. 14| 46.(2 | 47. (5] 45.(5) =3) Pﬂ:wk Steptoe 50. (2) Clever
49.(1)| 50.(2) | 51.15) 52. 1?'[3‘) ;'{“ ‘mﬁsfm 51. (5) The meaning of the word Nar-
53.(2| 54.13)| 55.11)| 56. (3} 12'8 2;1523’2250?‘; rate [Veth) as used in the pas-
57.(3)| 58.14)| 59.15) 60.(2) : sage is : to tell a story; to de-
13.(4) Elected Members of both the scribe the events; relate.
61.44) | 62.(5)| 63. (4| o4.(l) .
Houses and State Legislatures Look at the sentence :
65. (3| 66.(1)| 67.13)| 68.4) 1412} Fran Halesl] €
(2} Fran & He entertained them by narrat-
0.1 | 70. (2} | 71.(1}] 72.(3) 15.(3) Magnetic resonance ing his adventures in Australia.
35 742} 75 (1)) V6. (4 16.(1) OnlyA Hence, the words narrating and
TR3)| 78.(2)| V9.1%| 30.(9 17.(4) Only C describing are synonymous.
8l.{l)| B2.(5)| 83.(3] 84.14 18.(4) All of the above 52. (4} The meaning of the word Means
85.(3)| 86.(2)| B7.(3 88.(1) 19.(4) Temperature {Noun} ss used in the passage
8.5 20.(5| 91.3 92. (@ 20.(2) Poultry 185 ‘t’"ﬁYS :"‘ ﬁci‘?“ﬁ an Dhlecgsr_ﬁ
93 4)| o4. 15| 95. (1| 96.(3) 21.{5)3hooting system by whien & resuitois
. achieved; a way of achieving or
97.13)| 28.(1) | 99.(3)] 100. (2} 22.(2) Hanol doing something.
101.{5}| 102. (2} | 103. (4} 104. (4} 23.(3) Nelson Mandela Look at the sentence :
105, (5)| 106. (3) | 107. (1)) 108. (1) 24.(2) Third Television is an effective means
1. 3) 110.3)] 111.4)] 112. (3) 25.(1) Bt Cotton of communication.
113 (1)) 114.(5) | 115. (4] 116. (1) 26.(4) Indra Hence, the words means and
117.09 | 118. (5| 119. (3)] 120. (4 27.(3) Mozaml?lquc - o v;ﬂ.}’rrire Synm"lyrmj;ls}; i
121.(3] 122.3) | 123. (3)] 124. (4 X “iQkcigy o ol children be- -(2) The meaning of the word In-
tween 6-14 years of age tend (Verh) as used in the pas-
125.(3)] 126. (3) | 127. (5)| 128. (3) 29.(5) New Delhi sage Is : to have a plan in mind;
129, (1)] 130.(2)| 131.(2)| 132. (2) 30.(3) 8% want.
133, 14)| 134. (3} | 135. (5)] 136. (3) 31.(3) Videsh Sanchar Nigam Ltd. Look at the sentence :
137. (4)| 138.(3)| 139.(2)| 140. (4) 32.(3) Orange I don't intend staying long.
141 (7)) 142, (3) | 143.(5)] 144. (4) 33.(3) 9.6 Hence, the words intended and
145.1) | 146. (4) | 147. (1)| 148. (1) 34.{5) Arunachal Pradesh wanted arc synonymous.
1145, (3] 150. ()] 151.11)] 152.18) |  35.(3) Mik 54'£l E’f mf;g;:ft"ii:hf “’Dr“':s.t'
as used in
153. (2)| 154. ()| 155. (1) 156.(3) 36.14) Trade Related Intellectual the pﬁiﬁﬁgﬁ is : thatyou can rely
157.(1}| 158. (1} | 15%. (5} 160. (2} Property Rights on to be good, honest, sincere
161 (3)] 162. (1) | 163. (3)| 164. (1) 37.(1) Child marriages ete; reliable.
165(1) | 166. [1) | 167. (2} 168. (2) 38.(3) De Beers Hence, the words trustworthy
16941} | 170. (3)| 171. (3} 172. (1) 39.(4) All of the above and unreliable are antonymous.
1734 | 174. ()] 175. (4} 176. (2) 40.t4) Mani Shankar Afyar 55. (1) The meaning of the word
177.)| 178. (3)] 179. 12)] 180. (3) 41.(3) Mayadas had promised to Pleased (Adjective) ss used in
181 3)| 182.(3)] 183. (2)] 184. (1) serve in gold dishes which the the passage is : feeling happy
. : : : guests were allowed to take home about something.
185.2) | 186. (1) | 187. (3)| 158. (4) with them Look at the seatence :
1. @B)] 190. (4)] 191. (4] 192. (3] 42. (1) lt was Raidas' brother Kuber's The boss should be pleased with
193 (2)] 194, (4} | 195. (1)| 196. (1) plan to teach the rich business- you.
{

{
197(1| 188. @) | 199. (73] 200.

-

man a lesson




Of the given alternatives, the

word Disappointed (Adjective)

means ; upset because something

vou hoped for has not happened;

sad; unpleased.

Look at the sentence :

They were bitterly disappointed at

the result of the game.

Hence, the words pleased and

diasappointed are antonymous.
56. (3) When 'the’ or Possessive Ad-

jective (vour, our or their} comes

before 'number’, the Verb is al-

ways Singular because in that case

‘mumber’ does not express an in-

definite number.

Look at the sentence :

The number of potential poets born

varies from age to age.

Hence, 'is less because of should

be used.

57.13) Here, particular building
caught fire. Hence, definite arti-
cle 'the' should be used.

Hence, replace ‘residents of build-
ing' by ‘residents of the building'.

58. (4) The subject of the sentence is
in Third Person and Singular Num-
ber that will take Singular Verb.
Hence, she keeps getting mi-
graines. .. ... will be correct us-
age, r

52. (5) No error

60. (2) The sentence shows past time.
Hence, repalce ‘It become almost
impossible' by ‘it became almost
impossible’ (Simple Past).

61.(4) E 62. (5 F

63. (4 D 64. (1)B

65. (3 C

66. (1} The correct spelling is : ad-
here.

67. (3) The appropriate word should
be : mccessible.

68. (4) The correct spelling is : crisis.

69. (1) The correct spelling {s : ama-
teur.

70. (2) The sppropriate word should
be : amaze.

T1. (1) impressed T72. 13) reward

73.(5) disappointed

74. (2) notice 75. (1) thought
76. (4} bresk T7. (3) realized
78. (2) ashamed

79. (1) swaited

80. (5) managed

81. (1) ? = 75638 - 36211 + 12673
= 88311 - 36211 = 52100

BA74 o _apa7
200
= 42.37 + ? = 90.37
= ? = 00.37 - 42.37 = 48

4.5x45
83, 2] ? = —mr= X5=162

84, (4) 780 = J576 4 72 = 1826

@ > = 1326
= 26 + &= 1
= 30 +™=1326

= 7% = 1326 - 30 = 1296

?= 1296 =36

85, (3) P=78+652+6+41 + 119

- B9
250%1400 ?x1600
250x1400 <1609 ygap
86. (2}~ 160
= 3R00 -7 x 16 = 1580
= ?x 16 = 3500 - 1580 = 1920
1920
s 2 190
T

' 3
9 - — %1736+ 358
87. (3) ¢ 56

= 03 + 358 = 451

88. (1} 7 = Y6850

84

89. (5] 5.7 =

?=12.5+ 64 x 32
= 12,5 + 20.48 = 32.98
91. (3 ? = 8963 - 5413 - 2869

864
> P e mm =322
=7=3%3

80. (3

= 681
745
e W A5 745
a_ 25 . T =506
92, (2) ?= =L —— .
884 o 125
32
o 2><4x458_5_ 18
93. W7 = T 6m s

180
. = — %24 _
94, 5] 3x?= _1_0“ ._108

108

= ?= -3_.'= 36

‘@B. (1) ? = (678 - 455 + 132) x 0.4

=355 x 0.4 = 142
6. [3) The pattern of the number se
ries is :

8+3 =11
11+32=11+9=20# 17

20 + 33 = 20 + 27 = 47

47 + 3% = 47 + 81 = 128

128 + 0% = 128 + 242 = 371
¥7. 3} The patlern af the number sc

rnes 1s @ .

1+22=1+4=5

5+22=5+8=13

18+29=13+16=29 ¢ | 81]

29 + 25 =129+ 32 = 61
61 +25=61+64=125
98. (1] Iftwo cqual dislances are cov-
ered at two different speeds of 4
kmph and y kmph, then

|" 2y
Average speed = \xry) kroph

|r Ax58 % ‘:2 )
= .\‘“'é"éjr a2 J kinph

f_[ju:j%‘] h 5 kmph
=T kmph = 56 kmp
89, 3] Case 1

PxR=T (24200x4x6"
S5l = ———— = Rs oo |
10 100
= Rs. 5808
< Amount = Principal + S1
= Rs&. (24200 + 5808) = Rs
30008 )
Case I

Sl = Rs. [——-—

= Rs, 4801.28
100. (2) Let the S.P. of perfume b
Rs. x.
" Discount = 25%
. TB% of x = Rs, 5805
75
100

= XX = Rs, BBUL

_ (5895x100%
= x = Rs, VT i

= Rs. 7860 _
101, [5) ? = 754 + 4136 x24

754
= —=— %24 = 288
Gag o %88
102, (2) Let the CP ol 1 digilal camen
be Re. xand that of } handy cam
era be Rs. u.



According Lo the question,
15x + 21y = Rs. 354900
On dividing both sides by 3, we

hawve:

(3549001
By +7y = Rs. ‘_“‘3'—_]
= Rs. 118300

103. {4} Number of days in April and
May = 30 + 31 = 61
-+ Requirement of rice for 7 days
= 66 kgs.
». Requirement of rice for 61 days

56 .0
- [_7 X61 | kgs =~ 488 kes.

104. (4] The patlem of the namber se-
Hes 18
56 x 1.5 = 84
84 x 1.5 = [ 126
126 % 1.5 = 189
189 = 1.5 = 283.5
105, (5] Boys : Girls = 743 : 842
Total number of students
= 33700
». Number of girls

842

o — %% 31700
(743 + 842)

- B2 51700 - 16840
1585

106, (3) Let A = x. B =x + 2,
C=x+4 D=x+6and
E=x18,
‘,x+x+‘.!+x+.-4+x+6+x+
& =130
= Bx 1 20 = 130
= Dx=130-20 =110

110

= x= ?—‘2?

L A=92and
E=x+8=22+8=030
Ax E =22 x 30 =660

107, {ll L&l Lhe number be x.
Acceording to the question,

(4052 - »®) % 15 = 41340_
41340
s 4052 - = - = 2756
15
= A = 4052 - 2758 = 1296

s ox= Jlu0g =36

140, () Kequired popudation

- prl+i\ 1+ Ro )
=P 700, | Tio0)
- 245000 |1+ 725 | [ +1—j]
= 100, L7 100,

- 2.45000 [1 = 5%] [1 + %J

= 245000 x ES” X-:E

25 20
= 315560

109, (2} Let the side of the qquar{:
be x em.

504 .
s 4x=504=x= —4“=—126 cm

< Area of the square = &
=126 x 126 = 15876 cm?

110. (3} Let Mrs. Sheecla's monthly in-
come be Rs. x.

Here expenditure on education,
household articles and travelling
= {18 + 32 + 12)% of x
ﬁﬁx 3_ lx
=360 50
Remaining amount
31x0

= Rs. [x _ﬁ—;

=

[an 31x| 19x
. ——5 =-Rs, 50

Now, she spends 45% of remain-
ing amount in gambling and
saves Rs. 9405,

19x
s 55% of —— = 9405
i)

55 % 19x

= Tooxso 4°

9405 x50 %100
55x19
= Rs. 45000
11} [4} Required average
_ TAE+348 1163 451214 43068 + o+ 163

e

1
112, (2) A's 1 day's work =

. 1
B's 1 day's work = iz

I 1
oo [A+Bl's 1 day's work = §+ =
2+1 3 1
12 12 4
s A and B together will complet:
the work in 4 days.
113, (1] Speed of the car

l')mt:-mrP oo Fr\‘d
Time taken

l 135\

l\.mph 34 kph .

11 [l+—R—-]T
4.8 A=P |1+ 75

I
= 3600 [ 141oe] = 3600
3
1+ —
l\ .ol rl
3600 x53 % 53x53
50 = 50 % 50
= Rs. 4287.7

s L= Amount - Principal
= Rs. (4287.7 - 3600)
. =Rs. 687.7 = Rs. G88
118. (4] Decimal equivalent of eact

fraction :
3 e 2 _ois
3 11
3057, Looas
7 3
5 _oss, 2_oars
5 8
Cl 1 _%..Hl:é‘:i:_a.(g
Y- 117378 7 5 8
_ 3
. Third fraction = 3

116. (1} Required percentage
= A2 # 100 = 9%
490
117. {2) Required ratio
= {120 - 30) : (30 + 30)
—O0 A0 =12



118. (5) Number of businessmen
=45+ 19 =64
- Required percentage

4
= 6—)(100—1(}%
640

118. {3} Required ralio = 280 : (180
+ 30)
=280:210=4:3

120. (4) Renutired percentage

- —-LXIUG
(180 + 45)
- 25 4 100=20%

225
121, (2} Except 43, all other number:
are mulliples of 7.
122.{3 287654321
B7654321
7654321

123. (3) R is father of K, M and P.
The sex of K is not given.
Therefore, K is either son o
daughter of R.

124,04 2 15 14 4 9
B © N D I

14 7
N G

P

125. (3) According lo question
1 89 7 4 3 2

3rd lrom right

126.(0 6 [2] 5 9 1 4183

1123 4 5 61§|9
127.65)

M23sp i a 285py 2By

g—ﬂ patsg

128. (3} Meaningful Words,
=> SEAT, EAST
129.(1)G O A L LI
B A A
5 91 2 2 3
Therefore,
A L

4ol
12

o e

E
s
7

I G
14
35
130.{2).30U

Themfom.

>T<N T
N A E H O J
{131-133):

() Al pots are dishes — Univer
‘sl Allrmative [A-type).

i Some doors are tahles — Par
ticular Affirmative (I-type).

() No pencilis rock -» Universa
Negative (E-type).

{iv} Some penclls are not rocks —
Particular Negative {O-typel.

weE——m w2

N G

131.{2) Some tables are pols. -

All pois are dishes.

I+ A= 1-type of Conclusion
“Some lables are dishes.”
Conclusion 1 s Converse of iL.

132.{2) Some plates are houses.

All houses are rooms.

1+ A = 1-type of Conclusion
"Some plates are rooms.”
Conelusion Il is Converse of it.

133. (4) All the three Premises are Par
ticular Aflirmative ([-type). No Cor
clusion follows {rom the lwo Par
ticular Premises.

134.(3) Al books are pencils.

Ng pencl is rock.

A+ E = E-type of Conclusion
“No book is rock.”

Mo pencil is rock.

Some rocks are slones.

E + I = O -type of Conclusion
~ “Some stones are pencils.”

Conclusions I and 1 forrn Cos

plementary Pair. Therefore, ¢ith
Conclusion 1 or 11 [ollows.

138, (5] All desks are mirrors.

Al mirrors are holels.

All hotels ave roads.

A+ A+ A= Atype of Conclusi
“All desks are roads.”.
Conclusion | is Converse of it.

All mircors are hotels.

All hotels are roads.

A+ A= A-lype of Conelusion

“All mirrors are roads.”

Conclusion [l is Converse of il
136. (3)

Such combinatlions are :
[58w]

137.(4) M—2 L —2 494

44— W — P
7+—2>I I B
w—2 v s
T—2 62,y

138. (3} Cotrsonani '.\'1'1.11'01:)-(‘.1:1T Vowt
Such combinalions are :
1.
MIE | P4A

139. (2) According lo question, then
sequence woulld be

Rus MEJSPA*@UT .

LT

ath {rom the left end

140, (4) M +5>P +5“G +3 .
[P <o I - ENG T 1IN

+0 +5 o
J Bi* I—.);_l_ +u



(141 - 145): SittingArrangement

C\H,
G

14112} Bis (o the immediace right of
L.
142.(3) G is second to the left of F.
143. (5} in no pair the first person is
sitting Lo the imimediale Jeft of the
second person.
144. (4) H is fourth to the right of I,
145, (1} D is sitting between E and B.
146, (4} 518 = 617, 723 — 85249;
496 = 595 ’
375 = 474; 254 = 353
Second Lowest number
= 474 = 375
147.(1} 518 = 158 723 = 273
496 == 9465
375 = 736, 254 = 524

Lowest number = 158 = 511 8

148.(1) 518 = 815; 723 = 327:
496 = 6734
375 = 573 2534 = 452
Highest number = 815 = 51 @
49.(3) D = M = D is brothier of M,
M+ R = M is father of R.
Therefore, I is uncie of R.
R - M = R is sister of M.
M+ D= Misfaherof 0.
Therelore D is gither nephew or
niece of R.
R - M = R is sister of M.
M o+ P — M is father of D.
DT = D is hrother of T.
Therefore, D is nephew of R
150.(1) M x R =+ M is brother of R.
R+ T= R is molher ol T.
Therefore, M is malernal un-

cle of T.
(151 - 155) :
e [0 oma] S o=

* =g %:;.;%

I5L.(1JJSN =J>N
NWF =NzF
FeD=FzgD
Therefore, J>Nz2F< >
Conclusions
L.F@J = F<dJ: True
II. D%N = 0>N:Not True
152. (3 J% N = J =N
MDD =N=D
DEK=D<K
Therefore, J = N =D < K
Conclusions
I D@J = D=.J: Nol True
U DEJ = D] Not True
Either | or II is true.
183. () REM =R =M
M@V=>MaoV

VSF =VaF
Therelore, R=M <V = F
Conclusions

I F@M = F<M: Not True
Il VSR = V>H: True
I54. [ N@K =N<K
K¥F =K=zF
FSW=F>W
Therefore, N« K< F > W
Conclusions
L F% N = Fz=N: Not True
I W& HK=W<K:NuTrue
135,11 B* K =B=<K
KER =K>R-
RME=HKH=>8K
Therefore, BsK>=R=E
«Conclusions
I E&K = E<K: True
II. E2B = E < B NotTrue

186. (3] From Problem Figure (1) to (2)
wo adjacent designs interchange
positions. Similar changes cocur
from Problem Figure (3) to (4) and
from Problem Figure (5] Lo An-
swer Figure.

157. {1} In each subsequent figure two
new designs arc added in a set

" arder,

158. (1] In each subsequent figure two
line segments are added in 4 set
order.

159. (5) Fram Problem Figure (1) to (2)
all the three designs move to the
opposlte side. Shmilar charnges
accur trom Problem Figure (3) to
(4} and from Problewn Figure {5)
o Answer Figure.

160, (2) In each subsequent figure the
circle and the triangle interchange
positions and the L-shaped de-
sign rotates through 490" clock-
wise. :

161. (3} bipolar

r

162

165

167.
169.
171.
172.
173.
174.
175.
176.
178.
179.

180,
181.
182.
183.
184.
185,

186.

187

190.
191.
192,
193,
194,
195.
196.
197.
198,
199,
200.

. {1) synchronous optical
163.
164.
. (1} dbf
166,

i3] an add/drop multipliers

{1] asection

{1] International Business Ma-
chine'

{2] high level 168. (2] Host

(1) FTP 170. (3) Unicode
i3] precedence oriented
(1) Switch

(4] All of the above
{1] Internet Excel
(4] All of the above
(2) http - 177. (1) ARFANET
i3) Gateway

{21 A digital signal changes some

characteristic of a carrier wave

only two responses
Consumer bahaviour
creation of knowledge

(1) deceptive

(2] Manufacturer selling to the
direct consumer

(1] Soap

. (3) Growth
188,
189.

(4] All of the above

(3] Cost plus a stipulated mar-
gin of profit

] Facilitating agents

] Retail stores

3) Bothil) and (2]

1 Radio

] Pamphlets

) walue packs

1) Concern for self

) positively

i4] All ofthe above

{2] Consumer-to-Consumer
4] Attitude test






